

Acta Universitatis Palackianae Olomucensis. Facultas Rerum
Naturalium. Mathematica

Zbigniew Walczak

Approximation properties of certain linear positive operators in exponential
weighted spaces

Acta Universitatis Palackianae Olomucensis. Facultas Rerum Naturalium. Mathematica, Vol. 42 (2003), No.
1, 123--130

Persistent URL: <http://dml.cz/dmlcz/120459>

Terms of use:

© Palacký University Olomouc, Faculty of Science, 2003

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to
digitized documents strictly for personal use. Each copy of any part of this document must contain
these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped
with digital signature within the project *DML-CZ: The Czech Digital Mathematics
Library* <http://project.dml.cz>



Approximation Properties of Certain Linear Positive Operators in Exponential Weighted Spaces

ZBIGNIEW WALCZAK

*Institute of Mathematics, Poznań University of Technology,
Piotrowo 3A, 60-965 Poznań, Poland
e-mail: zwalczak@math.put.poznan.pl*

(Received April 25, 2002)

Abstract

We introduce certain linear positive operators in exponential weighted spaces of functions of one variable and we study approximation properties of these operators.

Key words: Linear positive operator, approximation theorem, exponential weighted space.

2000 Mathematics Subject Classification: 41A36

1 Introduction

1.1 Approximation properties of Szász–Mirakyan operators

$$S_n(f; x) := e^{-nx} \sum_{k=0}^{\infty} \frac{(nx)^k}{k!} f\left(\frac{k}{n}\right), \quad x \in R_0 := [0, +\infty), \quad n \in N := \{1, 2, \dots\}, \quad (1)$$

in exponential weighted spaces C_q were examined in [1]. The space C_q , $q > 0$, considered in [1] is associated with the weighted function

$$v_q(x) := e^{-qx}, \quad x \in R_0, \quad (2)$$

and consists of all real-valued functions f continuous on R_0 for which $v_q f$ is uniformly continuous and bounded on R_0 . The norm on C_q is defined by

$$\|f\|_q \equiv \|f(\cdot)\|_q := \sup_{x \in R_0} v_q(x)|f(x)|. \quad (3)$$

In [1] was proved that S_n is a positive linear operator from the space C_q into C_p provided that $p > q > 0$ and $n > n_0 > q/\ln(p/q)$. For $f \in C_q$ was proved that

$$v_p(x)|S_n(f; x) - f(x)| \leq M_1(q)\omega_2\left(f; C_q; \sqrt{\frac{x}{n}}\right), \quad x \in R_0, \quad n > n_0,$$

where $M_1(q) = \text{const.} > 0$ and $\omega_2(f; C_q; \cdot)$ is the modulus of smoothness of the order 2 defined by the formula

$$\omega_2(f; C_q; t) := \sup_{0 \leq h \leq t} \|\Delta_h^2 f(\cdot)\|_q, \quad t \in R_0,$$

where $\Delta_h^2 f(x) := f(x) - 2f(x+h) + f(x+2h)$ for $x, h \in R_0$.

In this paper by $M_k(\alpha, \beta)$ we shall denote suitable positive constants depending only on indicated parameters α, β .

1.2 In this paper we modify the formula (1), i.e. we introduce operators $A_n(f; q, r; \cdot)$ in the space C_q by the following definition.

Definition 1 Let $r \in N$ and $q > 0$ be fixed numbers. For $f \in C_q$ we introduce operators $A_n(f; \cdot) \equiv A_n(f; q, r; \cdot)$ by the formula

$$A_n(f; q, r; x) := \frac{1}{g(nx+1; r)} \sum_{k=0}^{\infty} \frac{(nx+1)^k}{(k+r)!} f\left(\frac{k+r}{n+q}\right), \quad x \in R_0, \quad n \in N, \quad (4)$$

where

$$g(t; r) := \sum_{k=0}^{\infty} \frac{t^k}{(k+r)!}, \quad t \in R_0, \quad (5)$$

i.e.

$$g(0; r) = \frac{1}{r!}, \quad g(t, r) = \frac{1}{t^r} \left(e^t - \sum_{j=0}^{r-1} \frac{t^j}{j!} \right) \quad \text{if } t > 0.$$

In Section 2 we shall prove that $A_n(f; q, r)$, $n \in N$, is a positive linear operator from the space C_q into C_q . Moreover we shall give approximation theorems for these operators.

We shall apply the modulus of continuity of $f \in C_q$ defined by

$$\omega_1(f; C_q; t) := \sup_{0 \leq h \leq t} \|\Delta_h f(\cdot)\|_q, \quad t \in R_0, \quad (6)$$

where $\Delta_h f(x) := f(x+h) - f(x)$ for $x, h \in R_0$. From (6) it follows that

$$\lim_{t \rightarrow 0+} \omega_1(f; C_q; t) = 0 \quad (7)$$

for every $f \in C_q$, $q > 0$. Moreover if $f \in C_q^1 = \{f \in C_q : f' \in C_q\}$, then

$$\omega_1(f; C_q; t) \leq M_2 t, \quad t \in R_0 \quad (M_2 = \text{const.} > 0). \quad (8)$$

2 Main results

2.1 In this section we shall give some properties of the above operators, which we shall apply to the proofs of the main theorems.

By elementary calculations we obtain

Lemma 1 Let $r \in N$ and $q > 0$ be fixed numbers. Then for all $x \in R_0$ and $n \in N$ we have

$$A_n(1; q, r; x) = 1, \tag{9}$$

$$A_n(t; q, r; x) = \frac{nx+1}{n+q} + \frac{1}{(n+q)(r-1)!g(nx+1; r)},$$

$$A_n(t^2; q, r; x) = \left(\frac{nx+1}{n+q}\right)^2 + \frac{nx+1}{(n+1)^2} + \frac{nx+1+r}{(n+q)^2(r-1)!g(nx+1; r)},$$

$$A_n(e^{qt}; q, r; x) = \frac{g((nx+1)e^{q/(n+q)}; r)}{g(nx+1; r)} e^{qr/(n+q)}, \tag{10}$$

$$\begin{aligned} A_n(te^{qt}; q, r; x) &= \\ &= \frac{nx+1}{n+q} e^{q/(n+q)} A_n(e^{qt}; q, r; x) + \frac{1}{(n+q)(r-1)!g(nx+1; r)} e^{qr/(n+q)}, \end{aligned}$$

$$\begin{aligned} A_n(t^2e^{qt}; q, r; x) &= \left\{ \left(\frac{nx+1}{n+q} e^{q/(n+q)}\right)^2 + \frac{nx+1}{(n+q)^2} e^{q/(n+q)} \right\} A_n(e^{qt}; q, r; x) \\ &\quad + \frac{(nx+1)e^{q/(n+q)} + r}{(n+q)^2(r-1)!g(nx+1; r)} e^{qr/(n+q)}. \end{aligned}$$

Moreover

$$A_n(t-x; q, r; x) = \frac{1-qx}{n+q} + \frac{1}{(n+q)(r-1)!g(nx+1; r)},$$

$$\begin{aligned} A_n((t-x)^2; q, r; x) &= \\ &= \left(\frac{1-qx}{n+q}\right)^2 + \frac{nx+1}{(n+1)^2} + \frac{1-nx-2qx+r}{(n+q)^2(r-1)!g(nx+1; r)}, \tag{11} \end{aligned}$$

$$\begin{aligned} A_n((t-x)^2e^{qt}; q, r; x) &= \\ &= \left\{ \left(\frac{nx+1}{n+q} e^{q/(n+q)} - x\right)^2 + \frac{nx+1}{(n+q)^2} e^{q/(n+q)} \right\} A_n(e^{qt}; q, r; x) \\ &\quad + \frac{(nx+1)e^{q/(n+q)} - 2x(n+q) + r}{(n+q)^2(r-1)!g(nx+1; r)} e^{qr/(n+q)}, \tag{12} \end{aligned}$$

for $x \in R_0$ and $n \in N$.

Now we shall prove two fundamental lemmas.

Lemma 2 For every fixed $q > 0$ and $r \in N$ there exists a positive constant $M_3(q, r)$, depending only on the parameters q and r , such that

$$\|A_n(1/v_q(t); q, r; \cdot)\|_q \leq M_3(q, r), \quad n \in N. \quad (13)$$

Moreover for every function $f \in C_q$ we have

$$\|A_n(f; q, r; \cdot)\|_q \leq M_3(q, r) \|f\|_q, \quad n \in N. \quad (14)$$

The formulas (4)–(5) and the inequality (14) show that $A_n(f; q, r; \cdot)$, $n \in N$, is a positive linear operator on C_q .

Proof From (2), (4), (5) and (10) we have for all $x \in R_0$, $n \in N$

$$v_q(x)A_n(1/v_q(t); q, r; x) = \frac{g((nx+1)e^{q/(n+q)}; r)}{g(nx+1; r)} e^{qr/(n+q)-qx}$$

and

$$\begin{aligned} & \frac{g((nx+1)e^{q/(n+q)}; r)}{g(nx+1; r)} = \\ & = \left[\frac{e^{(nx+1)(e^{q/(n+q)}-1)+nx+1}}{e^{nx+1} - \sum_{j=0}^{r-1} \frac{(nx+1)^j}{j!}} + \frac{\sum_{j=0}^{r-1} \frac{((nx+1)e^{q/(n+q)})^j}{j!}}{e^{nx+1} - \sum_{j=0}^{r-1} \frac{(nx+1)^j}{j!}} \right] e^{-qr/(n+q)}. \end{aligned}$$

Using the inequality

$$e^{q/(n+q)} - 1 = \sum_{k=1}^{\infty} \frac{1}{k!} \left(\frac{q}{n+q} \right)^k < \sum_{k=1}^{\infty} \left(\frac{q}{n+q} \right)^k = \frac{q}{n},$$

we get by (5)

$$\begin{aligned} v_q(x)A_n(1/v_q(t); q, r; x) & \leq \frac{e^{nx+1+q/n} - e^{-qx} \sum_{j=0}^{r-1} \frac{(nx+1)^j}{j!}}{e^{nx+1} - \sum_{j=0}^{r-1} \frac{(nx+1)^j}{j!}} \\ & = \frac{e^{q/n} \left(e^{nx+1} - \sum_{j=0}^{r-1} \frac{(nx+1)^j}{j!} \right) + (e^{q/n} - e^{-qx}) \sum_{j=0}^{r-1} \frac{(nx+1)^j}{j!}}{e^{nx+1} - \sum_{j=0}^{r-1} \frac{(nx+1)^j}{j!}} \\ & \leq e^q \left(1 + \frac{\sum_{j=0}^{r-1} \frac{(nx+1)^j}{j!}}{e^{nx+1} - \sum_{j=0}^{r-1} \frac{(nx+1)^j}{j!}} \right) = e^q \left(1 + \frac{\sum_{j=0}^{r-1} \frac{(nx+1)^j}{j!}}{g(nx+1; r)(nx+1)^r} \right) \end{aligned}$$

for $x \in R_0$, $n \in N$. From (5) we also get

$$\frac{1}{g(t; r)} \leq r! \quad \text{for } t \in R_0. \tag{15}$$

Hence we can write

$$v_q(x)A_n(1/v_q(t); q, r; x) \leq M_3(q, r),$$

which implies (13).

The formula (4) and (3) yield

$$\|A_n(f(t); q, r; \cdot)\|_q \leq \|f\|_q \|A_n(1/v_q(t); q, r; \cdot)\|_q, \quad n \in N, r \in N,$$

for every $f \in C_q$. Applying (13), we obtain (14). This completes the proof of Lemma 2. \square

Lemma 3 For fixed $q > 0$ and $r \in N$ there exists a positive constant $M_4(q, r)$ such that

$$v_q(x)A_n((t-x)^2/v_q(t); q, r; x) \leq M_4(q, r) \left[\left(\frac{x+1}{n+q} \right)^2 + \frac{x+1}{n+q} \right] \tag{16}$$

for all $x \in R_0$ and $n \in N$.

Proof From (2) and (12) it follows that

$$\begin{aligned} & v_q(x)A_n((t-x)^2/v_q(t); q, r; x) = \\ & = v_q(x)A_n(1/v_q(t); q, r; x) \left[\left(\frac{nx+1}{n+q} e^{q/(n+q)} - x \right)^2 + \frac{nx+1}{(n+q)^2} e^{q/(n+q)} \right] \\ & \quad + \frac{(nx+1)e^{q/(n+q)} - 2x(n+q) + r}{(n+q)^2(r-1)!g(nx+1; r)} e^{qr/(n+q)-qx} \end{aligned}$$

for $x \in R_0$, $n, r \in N$. Observe that

$$\left(\frac{nx+1}{n+q} e^{q/(n+q)} - x \right)^2 \leq 2 \left(\frac{nx+1}{n+q} (e^{q/(n+q)} - 1) \right)^2 + 2 \left(\frac{nx+1}{n+q} - x \right)^2$$

for $x \in R_0$, $n \in N$. By the inequality $e^t - 1 \leq te^t$ for $t \in R_0$, we get

$$\left(\frac{nx+1}{n+q} e^{q/(n+q)} - x \right)^2 \leq 2e^2q^2 \left(\frac{x+1}{n+q} \right)^2 + 2 \left(\frac{1-qx}{n+q} \right)^2 \leq M_5(q) \left(\frac{x+1}{n+q} \right)^2,$$

$n \in N$. Applying (15) and the inequality $te^{-at} \leq a^{-1}$ for $a > 0$ and $t \in R_0$, we obtain

$$\begin{aligned} & \frac{(nx+1)e^{q/(n+q)} - 2x(n+q) + r}{(n+q)^2(r-1)!g(nx+1; r)} e^{qr/(n+q)-qx} \leq \\ & \leq \frac{(n/q+1)e^{q/(n+q)} + 2(n+q)/q + r}{(n+q)^2} r e^{qr/(n+q)} \leq \frac{M_6(q, r)}{n+q} \end{aligned}$$

for $x \in R_0$, $n \in N$. Using the above inequalities and (13), we get

$$v_q(x)A_n((t-x)^2/v_q(t); q, r; x) \leq M_4(q, r) \left[\left(\frac{x+1}{n+q} \right)^2 + \frac{x+1}{n+q} \right].$$

This ends the proof of (16). \square

2.2 Now we shall give approximation theorems for A_n .

Theorem 1 For every fixed $q > 0$ and $r \in N$ there exists a positive constant $M_7(q, r)$ such that for every $f \in C_q^1$ we have

$$v_q(x)|A_n(f; q, r; x) - f(x)| \leq M_7(q, r)\|f'\|_q \left[\left(\frac{x+1}{n+q} \right)^2 + \frac{x+1}{n+q} \right]^{1/2}, \quad (17)$$

$x \in R_0$, $n \in N$.

Proof Let $x \in R_0$ be a fixed point. For $f \in C_q^1$ we have

$$f(t) - f(x) = \int_x^t f'(u) du, \quad t \in R_0.$$

From this and by (4) and (9) we get

$$A_n(f(t); q, r; x) - f(x) = A_n\left(\int_x^t f'(u) du; q, r; x\right), \quad n \in N.$$

But by (2) and (3) we have

$$\left| \int_x^t f'(u) du \right| \leq \|f'\|_q \left(\frac{1}{v_q(t)} + \frac{1}{v_q(x)} \right) |t-x|, \quad t \in R_0.$$

This implies that

$$\begin{aligned} v_q(x)|A_n(f; q, r; x) - f(x)| &\leq \\ &\leq \|f'\|_q \{A_n(|t-x|; q, r; x) + v_q(x)A_n(|t-x|/v_q(t); q, r; x)\} \end{aligned} \quad (18)$$

for $n \in N$. By the Hölder inequality, (9) and Lemmas 1-3, we obtain

$$\begin{aligned} A_n(|t-x|; q, r; x) &\leq \{A_n((t-x)^2; q, r; x) A_n(1; q, r; x)\}^{1/2} \\ &\leq M_8(q, r) \left[\left(\frac{x+1}{n+q} \right)^2 + \frac{x+1}{n+q} \right]^{1/2} \end{aligned}$$

and

$$\begin{aligned} v_q(x)A_n(|t-x|/v_q(t); q, r; x) &\leq \\ &\leq v_q(x) \{A_n((t-x)^2/v_q(t); q, r; x)\}^{1/2} \{A_n(1/v_q(t); q, r; x)\}^{1/2} \\ &\leq M_9(q, r) \left[\left(\frac{x+1}{n+q} \right)^2 + \frac{x+1}{n+q} \right]^{1/2}, \quad n \in N. \end{aligned}$$

From this and by (18) we immediately obtain (17). \square

Theorem 2 Suppose that $q > 0$, $r \in N$ are fixed numbers and $f \in C_q$. Then there exists a positive constant $M_{10}(q, r)$ such that

$$v_q(x)|A_n(f; q, r; x) - f(x)| \leq M_{10}(q, r)\omega_1\left(f; C_q; \left[\left(\frac{x+1}{n+q}\right)^2 + \frac{x+1}{n+q}\right]^{1/2}\right) \tag{19}$$

for all $x \in R_0$ and $n \in N$.

Proof We use Steklov function f_h of $f \in C_q$

$$f_h(x) := \frac{1}{h} \int_0^h f(x+t) dt, \quad x \in R_0, \quad h > 0. \tag{20}$$

From (20) we get

$$f_h(x) - f(x) = \frac{1}{h} \int_0^h \Delta_t f(x) dt, \quad f'_h(x) = \frac{1}{h} \Delta_h f(x), \quad x \in R_0, \quad h > 0.$$

This implies that $f_h \in C_q^1$ for $f \in C_q$ and $h > 0$. Moreover

$$\|f_h - f\|_q \leq \omega_1(f; C_q; h), \tag{21}$$

$$\|f'_h\|_q \leq h^{-1}\omega(f; C_q; h), \tag{22}$$

for $h > 0$. Observe that

$$\begin{aligned} & v_q(x)|A_n(f; q, r; x) - f(x)| \leq \\ & \leq v_q(x) [|A_n(f - f_h; q, r; x)| + |A_n(f_h; q, r; x) - f_h(x)| + |f_h(x) - f(x)|] \\ & := L_1(x) + L_2(x) + L_3(x) \end{aligned}$$

for $x \in R_0$, $n \in N$, $r \in N$ and $h > 0$. From (14) and (21) we obtain

$$L_1(x) \leq M_3(q, r)\|f_h - f\|_q \leq M_3(q, r)\omega_1(f; C_q; h),$$

$$L_3(x) \leq \omega_1(f; C_q; h).$$

Using Theorem 1 and (22), we get

$$\begin{aligned} L_2(x) & \leq M_7(q, r)\|f'_h\|_q \left[\left(\frac{x+1}{n+q}\right)^2 + \frac{x+1}{n+q} \right]^{1/2} \\ & \leq \frac{M_7(q, r)}{h} \left[\left(\frac{x+1}{n+q}\right)^2 + \frac{x+1}{n+q} \right]^{1/2} \omega_1(f; C_q; h). \end{aligned}$$

Hence

$$\begin{aligned} & v_q(x)|A_n(f; q, r; x) - f(x)| \leq \\ & \leq \left(1 + M_3(q, r) + \frac{M_7(q, r)}{h} \left[\left(\frac{x+1}{n+q}\right)^2 + \frac{x+1}{n+q} \right]^{1/2} \right) \omega_1(f; C_q; h) \end{aligned}$$

for $x \in R_0$, $n \in N$, $r \in N$ and $h > 0$. Setting

$$h = \left[\left(\frac{x+1}{n+q} \right)^2 + \frac{x+1}{n+q} \right]^{1/2},$$

for fixed $x \in R_0$, $n \in N$ and $q > 0$, we obtain the assertion of Theorem 2.

From Theorem 1 and Theorem 2 and by (5) we obtain

Corollary *If $f \in C_q$ with some $q > 0$ and $r \in N$, then*

$$\lim_{n \rightarrow \infty} \{A_n(f; q, r; x) - f(x)\} = 0 \quad (23)$$

for all $x \in R_0$. Moreover (23) holds uniformly on every interval $[x_1, x_2]$, $x_2 > x_1 \geq 0$.

Remark It is easily verified that analogous approximation properties hold for the following operators on C_q .

$$B_n(f; q, r; x) := \frac{1}{g(nx+1; r)} \sum_{k=0}^{\infty} \frac{(nx+1)^k}{(k+r)!} (n+q) \int_{(k+r)/(n+q}^{(k+1+r)/(n+q)} f(t) dt \quad (f \in C_q)$$

for fixed $q > 0$, $x \in R_0$, $n \in N$ and $r \in N$.

References

- [1] Becker, M., Kucharski, D., Nessel, R. J.: *Global approximation theorems for the Szász-Mirakjan operators in exponential weight spaces*. In: *Linear Spaces and Approximation* (Proc. Conf. Oberwolfach, 1977), Birkhäuser Verlag, Basel ISNM, **40** (1978), 319–333.
- [2] De Vore, R. A., Lorentz, G. G.: *Constructive Approximation*. Springer-Verlag, Berlin, 1993.